ZF 8A3H (1)

#1H

EXMRAEEE (A, Ba—H)

MANL—=vstv%— (C. Da—F)

AR
A 26 62 D 33 29 1 9:00~
32 16 A5 34 53 44 18 C5 31 47 2 10:00~
Al B1 C1 D1 3 11:00~
H H B # R Ha NEXUS =8 I ] & 4 4 12:00~
5 13:00~
16 B5 50 46 D5 30 6 14:00~
7 15:00~
E & % E BRI
40 33 a3 25
58 A2 A6 54 40 C2 C6 61
=HES EJ =EES Yso
42 A4 34 21 Cc4 57
(o} 26 19 F 31 25
60 18 A7 9 70 18 41 C 7 49 17
A3 B3 Cc3 D 3
H & B & ¥ B L7 - LT BB o BE %
58 B 7 17 |51 D7 19|

X&U— 1 {LBBF —LRE U — e
X2 TO 1B 1 BF—LARBERERVCI-ITFAL—SJICTRBV—, 28U—I, ZRETIBEODFET
X 2 BEXRBEYBRERETICHAIEHEEROTVEET, (MBE®D 1 8 FFELDR—LNR—CTHEER 2 AAASHEASHEEBELET)

%% 8A4H (H) 2HH
EEMRGFEE (A, Ba—Fh)
RE§Y — 7 40 | 19
A7
|34 B 7 27|
22 21 29 45
24 28 A5 27 31 50 39 B5 36 24
A1 A2 B 2 A3
na 2B " oE NEXUS =ms W& Yso oM
| 32 A4 27|
28 A6 28
B 25 ¥EB YSORU—AX 3ff NEXUS BHE =EHR/—JX
LY — b
’ B ¥ AR
57 26 1 9:00~
B1 B6 2 10:00~
8 a4 3 11:00~
27 B3 a6] — 4 12:00~
=HEa
* 2 HTES 5 13:00~
6 14:00~
MEAML—=vSEY%2— (C, Da—F}) 7 15:00~
28— 50 | 23 mast
c7
a0 D7 47|
42 44 32 26
32 51 CS5 48 28 38 24 D5 41 27
C1 C2 D 2 C3
& A iR O = = ] H H ML "=
41 c 4 32|
43 ce6 37

1 @ 24 XR 34 RIRIUNO HEE LA

BT — LA it 5
28 57
D1 D6
51 36
LA [*° D3 B mm




